&
(S IV

oulsS ) ¢ o Caw

° & & oo
E 54090 (9 s piix b
ab) 5o 35

Saving Nature
US> 9 ) s gazen
SHS8)135) 9 Sy s

i sl 860 s
JV>3w) 9 s (sl oiw, S




. . 7 se v o o7
(FEAF5S) (Ml 225 j9,88 W (3l u":"/’ wsU O

adlaa L N S X
&V o g W)yl

?A&Su.a Jalf oj‘, f»‘éS ‘) »2) Cal.:.n‘

(0315 1Y 51V (Y slazmio —w jbb GLS)
Ci oo alnnil p o 5 4] CliS o ddon 05 4 oyl S

W plas Gl S Lad Ko/ S ala, mls oz o o2y e iaS

s (F abyy (¥ S Lei (1

el ool Las CA..A)QU ») 6&03‘5 )| i d

[ oig B | it o3 g g 1050 | J5 8y G rolS | Sz (e 145 000

€nSGip,2Y 1 (655 050 ] S5y 15,1555

(0519 ¥V g ¥+ AY slaamio — wyb GLS)
Gl (F G aw (¥ G g (¥ <

To ls (ool (w0l iz a5 yho

(Mot YD gamiso — oy WLS)

e 45 oz 1y D pgus yo i ot | lilate 45 ot wje Sole 5 S

*d,,dqol)liha_&)fiojou}.ﬂafbjwlolf)o f))LG‘\S.A:.aSJGLaA

cd.AT » QBQL@ )| QB’P 9 bl.g’)s 9 R VSoA) ‘sléwto ujl-Q—:-‘ Cwods> 6‘&‘ 9 A.J}A’.&.A

€yl Jls et Jlad aiglas o5 )0 4y HlFas; cil e cdf S oaus dz o

G > (F B aw (¥ G g (¥ < (O

S € Jlaallpaion g €5 plas e (s 5 a4 QLS g8 plaS Gl

(Cld 2,61V g1 sbamio — b LLS)

4ol a6 canl I (¥ oo gallls sl dl ()

o394l IS spine g9t (F Aol gild (sgine syite (¥

Wy plaS 40 43l g03ly (5 gt A sl Lo S (592195 I (I3 5l (Kep 5 Sl

Sl € Jgrao»
(Sb) 3 181 SbSMS (Y samio slio — w6 SLS)
W59 &5 38 wain g il el (SIS Az 5 5599 0l 5250 b I ()
igll (el 09 olasy salzrs (97 | @il S ST 9lo9; oaus 51 (¥
Qad 3 dilgyd g aied > Cowl o [ (S plle )0 oS axles (gl Ko e (F
Wy a8y 5 g i M5 e S JS @iSip 23 e 3l 092 Ol B (F

oali St (il &1

Eo90 v y9. Wl
YYG)e d(bua.w 3()) (,-W/@ m}

B G ) sloeian () f 45 0

-



bl oy Jxa

4o M ’./ S . 7 o
)94 (22 il Jsl @z

foiiun ]:.:.t.i &.'AS)-A ‘5&9 dthoj‘s C;)L,.C ‘O‘JS 3

(S 3 o1 SIS NA Gamio — ow j6 LS)
ysalisayd 95 b g SB- L g 035 0y yslme sl 51 e 592 (O
WS oo by b oSl b Sl 5 2Wol8 ;35 00,38 o cpe GBI (g0 2y 31 Lblasyl ) (Y
oL jo lads, s Ly Lao 85y asin oo Ylao 3 0y g0 1) oyl ol a0gd Sl g b5 (¥

iab ) e
D310 e iz 5l 0ilgSl  Sllage o 3U e (593, 50 lows] 45wt so Uy (F
Sl €Gieel o plgicse S plaS 5

(9 sl yT N F gamio — w6 GLS)
oy Jleed 4y a8 piliocins liz a3 e 45T Cungs (5l 03 0gae pag> EL 4o 51 ()
ey LS & (Ragyd (e 5 09 dz [ 00 Sy 00 4y (LIS 4z 5 s 51 (Y
oy loed a3 Slollo (S 10 4z yg | st il 95 31 it 305y 42 0 (F

oy S o 4B S Cewd Sl il [ o0 gl (295 )15 50 (eSS s (F
$og g0 Cutme € shg 992> (Slaipdi®» (50,Ly0 Can plaS” jo

(Poain (Y a0 — o b SLS)
Sy 3 958 ol 2y e | CutS az )l 09,0 (S50 g izd s ()
oz (5,985 &, wsyed o Tuiz (5590 Lo 9 Gouo o, 51 (Y
OF oz paS ez )0 OlSily [ S Glse b g0 ol sl ol (F
G ptne 3o plle ;01 (290l 5 6,85 2 (F

(pgaio FY saio — o )b OLS)
€Gygila aeboiS ) 85 Cand 393 ST oyb g conl Sl p0 e et 4 13D
ol 3 Al ;) 0T ST el juo j0 oyl jod 92 1) 2 ()
Syet Ly oy ) Cows &5 S (50l | 5rs 0gde dmsily o az (gol8 SUL (Y
Fbe> 590 5 Jad Sl on 45/ 193 jgu plows (S35 4 (1
3o ol 3 iy Ghs 5 g7 | e €l gabo s S5 (F

(pgeio (VO amio ailin—i I8 SLS)
ol giniali loz ;0 Siszs ) dduend 355 aobs 5l <Jie ()
ob sl pgds pgd Gl (93 01 LS Gl 95 0,95 S (g5 (¥
bLS;;A":.ip,s»oas.;ASob.?/Q&JMa‘saq;.;ouJﬂ&Jo(Y

OBl il (50,5 Joxd gy | (ygjhe 95 ol b 00 F aebs g 5T 92 (F

-

—.



adlaa L JN

e 4.~ 4 o7
(FEAF 35) (04, @25 j9,97 W el 8 il @

sVoTH by

S taz ol ) b B Bl eles e (Lol W Loiier 31 3 il o3e

(99 o ¢F saxio b i yo g JoSo — w33 SLS)

Sead sals s by sbostin b ot 53 1 bl s a8 g e LT Loladl 1 (8

Saes o et by alooslin b cus s 1 baglanl a3 a8 18 o sanliae LT folusl ol (¥

Tans g iy ol oles b s&incas 1) bolewl wishis oo LT ol ol (¥

Sl oals ciy oy ololin b 1 cad glowl 103 45 38 e saaliae LT folust (ol (F

:c,;vﬁa.“ s

(5 5S40 5 — w38 SLS)
el s 1 3l Lo it o i 15 s 05 Lo 1)) s o s s o ()

(Sl g 45 s S o 15 6 Lot LT 150 50l ¥ Lo 0505 ol Jo (¥

oS 4 o) pdit 15 53l 5o plials e 115 e 28 TSI (o Y1 88 amans UT (Y

fewl

S 1) L3 o 3,05 3 Ui e s, ) 43 U ab) (F

TONFA [ VO F S S

(319> F Gamio b bad 5o g Joo — (w30 ILS)

o5 Wl 2ol 3 Lib i (¥ JREGF W RN RSN SN
s 1ol s lsall g5 o (F Gl fie® 55 gal, (v
RN P [P [ S I IR N = PP R OW I | VS s

(5 5 pgedo — w33 WLS)
G5l =55l (Y ol — oA ()

ij—;QJI (¥ _,:a:i—,a:ﬁl \s

Al S8 M

AG) gloexio O

-\

-1y

—1¥F



@

we v Hs o o
;94T (Ao po @9V Jsl @947

adil 3oLy N :ow,atw@o;;

(¥ 025038 8 (a0 ) B 30 g Joo — o 39 VLS
o) eatl) a3 3ls TS S ()

".ju"\ﬂ ol ol 3Tl e o (Y

) ) ae O (¥

501 TN oS s IR eI e (F
) LIS Sl sl e

(8 e 303 <Y a0 s i g0 g JoSo — (w30 LS)
S izl pas Il aedl] S5 Ly 23] ()

g fC_’ fl“““:“ S RIG
;"W. ;_.:\;:;ﬂ LSJ‘:"W :”“ L;! o
53,0 1oLl 5,090 s (F

:BJL&?‘ P.u‘ Jm] ’. @ 0;-9

(¥ 0503 (7 Gammiuo ) Jad 0 g JoSo — g 39 SLS)
ilandl LW 3 pldel] Gbbs Lhelus (A

Dlal 3 08 ol all K20 (¥
gl c:.a.}l KPR ESSUIRARYY [\l
05 o3 U] ey ¥ QBT Y50 (F
«C/M‘: v ‘CL:Q’» :’~,,,..J§J; oo one

(F 02503 ¥ sammivo b Bad o g Joo — (o 39 SLS)

":}—Jbu?(\‘ ":’—Jlﬁé(\
Jais — J (¥ Jaae - JU (v

Wlade 5,000 1K e Sl LS50l e B ol i sl e

(o5 5 45199 — om0 L)

axl L5 ,8 (¥ PR
Jorl = 05 (8 |skar) = 5,5 (¥

(1 0203 ) a0 b B 0 g JoSo — g 38 SLS)
Lol o oo 155 Y ()

s o ser SOl Sl Jams Y (Y
(ol > e ol B3l 5o Y (F

(Y1 ) B s ol ) o s (¢

-1

15

=\A

-1

R



, P e n f s '
(FEAF 55) (M0, 225 j9,88 W W90l Ais e iU

adlaa L J.?LN

&) S b
Saving Nature M
Pronunciation 5(.3(% ¢ca

FI 6B slorio O

PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence.

21- Peter’s health is endangered because he ate a lot of cakes last

night. He ...... to school next week.

(Y samio b b 30 g JoSo — ui 39 SUS)
1) won’t go 2) goes
3) going to go 4) doesn’t go

22- Pm...... stay home on the weekend. I have a lot of homework

to do.

(Y8 oo b i o g JoSo — (w39 WLS)
1) will to 2) going to
3) will 4) don’t

23- People found an injured panda near the lake. They hope to

...... and return it to the plain.
(V) samio b b 30 g JoSo — oy SLS)
1) destroy 2) increase
3) save 4) live
24- My sister is going to ...... a new house soon. She has enough
money.
(YO samio b bad o g JoSo — (i 33 HLS)
1) travel 2) cut
3) teach 4) buy
25- Forests are the ...... home of different animals, but humans are

destroying them by cutting the trees.

(V) o b fad po g JoSo — w39 SLS)
1) natural 2) alive

I 3) endangered 4) hopeful



o

Qb asly Jxa

bisaT L8 gt Jsl @sa,T
26- 1 like to visit a big beautiful ...... with many happy animals
and birds.
(V) samio b d o g Joo — g 39 IUS)
1) future 2) plain
3) movie 4) attention

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space.

Nowadays, there are many endangered animals that need our (27)...... .
Their number does not increase if we (28)...... their homes. And if we do not
help them, we will find only a few of them around us. Some examples are
whales, pandas, tigers and Asian elephants.

Only a few of animals will be (29)...... , if humans keep destroying the forests,
lakes, and plains. When the number of people on Earth increases, they need
more places to live. They cut trees in the forests and make homes and roads
instead, but it is very dangerous for animals. It means that the animals won’t

have a place to live and they will (30)...... .

27- 1) group 2) example
3) attention 4) world
28- 1) visit 2) enjoy
3) study 4) destroy
29- 1) alive 2) injured
3) interested 4) wild
30- 1) take care 2) die out
3) pay attention 4) go out

(85 5 S 355 — o 30 WLS)
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